
1)	Lentille	de	vergence	:	

€ 

V = +10δ .	Distance	focale	:		

€ 

OF '= 																																																	Echelle	:	1	carreau	=	5cm	
	

	
	
	
2)	Lentille	de	vergence	:	

€ 

V = +8δ .	Distance	focale	:		

€ 

OF '= 																																											Echelle	:	2	carreaux	=	12,5cm	
	

	
	
	
3)	Deux	lentilles	de	vergence	:	

€ 

V = +8δ 	et	

€ 

V = +2δ .			Echelle	:	2	carreaux	=	12,5cm							
	

Distance	focale	:		

€ 

OF '= 																																												


